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The algebraic sum of the deviation
from mean is :

(A) Least

(B) Maximum

(C) Zero

(D) None of these

Index number reveal the state of :
(A) Deflation

(B) Inflation

(C) Neither (A) nor (B)

(D) (A) and (B) both

What is the reason for distrust in
statistics ?

(A) Contradictory data

(B) Use of data only by experts
(C) Both (A) & (B)

(D) None of these

Mode divides the series intotwo
equal parts:

(A) True

(B) False

(C) Not Possible

(D) None of these

T W fagedl @1 SRk e
BT & :

(A) T

(B) S

©) 3

(D) W ¥ P T

T Rt & e o i
Ca i

(A) TcU =14

B) e g

(C) T (A) R T2 (B)

(D) (A) Td (B) T

WiRerd! & ufe rfdward & /1 HRO
7?7

(A) TR RN e B

(B) W& &7 YA fa9wsll gRT 8
(C) (A) W@ (B) al

(D) ¥ A BIg TeI

YASH qHG AT Bl Al IRER AT A
farTfora ear &

(A) T

(B) 3™

(C) T™Ig

(D) T I BIg T
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5. Charliers check is applied in : 5. AfelR S &1 TN Bl &
(A) Mode (A) T |

(B) Geometric mean (B) VIR AR H

(C) Arithmatic mean :
(C) VAR A H

(D) Harmonic mean _
(D) TIH AR H

6. Calculate Median form the 6. ferferRaa &1 Afaad o T BV

following : L,=20, L,=10, F=5, M-C=4
L,=20, L,=10, F=5, M-C=4 (A) 18

(A) 18 (B) 10

(B) 10 (C) 30

(C) 30 (D) T A I T

(D) None of these
7. The kelly’s coefficient skewness is 7. el $I [I9HdT T SR @ :

based on : (A) TIHD

(A) Decile (B) ﬂ@gj'cﬁ

(B) Quartile ©

(C) Percentile _
(D) YTHD

(D) Quantile
8. Which of the following is not the 8. 1 & 9 @9 A FTd foum @

kind of unbiased error ? UHR ol & ?
(A) Accidental Error (A) R R
(B) Compensating Error

(B) &faRs fagw
(C) Random Error Sq R

©
(D) Systematic Error

(D) gaRed fayH
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0. Cost of living at two different 9. 3 B ot # e fafes @ ol T
cities can be compared with the CaRSIcIRE
help of : (A) 9o Feuia & \Erar 9
(A) Value Index (B) ST 7 o @ TErdr
(B) Consumer Price Index A
(C) Volume Index (©) ASeTd & TR ¥
(D) Unweighted Index (D) 3R [edapa o s
10.  Limitation of coefficient of  10. fIywar ToMd $ YA & :
skewness is : (A) +1
(A) +1 (B) -1
B) -1 (C) +1]-1
(C) +lto-1 (D) SR T
(D) All of above
11.  If the actual age of a person is 50 11. Uﬁwwﬁaﬁwﬁ?ﬁa@ 50 99
years and estimated age is 45 year 2 3R 3@@3 3 45 99y g dl e
the relative error will be : v BN
(A) .011 (A) 011
(B) .11 B) 11
(C) .05 (C) .05
(D) .09 D) .09
12.  Which one of the following is not 12. 33 o @ Ugfd uIi® TG
a method of primary data D UHATPROT bl Ugfd =gl & ?
collection (A) WETHR
(A) Interview (B) e
B) Questionnaire
ECi Delphi method (©) Sl el
(D) Documents (D) Here
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13. If the arithmetic mean of 7 13. 3 7 aclipAr b1 AR 9T 100 8
observation is 100 and that of 3 oI 3 3golll BT THFR T 50 2
i i h bined .
observations is 50, the combine a Eﬁ_rﬁ - FE SR HE BT -
arithmetic mean would be :
A) 75
(A) 75 (A)
(B) 65 (B) 65
(C) 100 (C) 100
(D) 85 (D) 85
14.  Fisher’s formula is : 14. 3R @1 el g
ZP1qo ., P00 P ZP
A 110 « 140 040
( ) XPoq1  IP1qq (A) ZPyqy X IPiqq
2P1qy _, TP1qy TP TP
B 110 « 140 141
( ) XPoqo ZPoqq (B) 2Py qo X ZPyqy
ZPoqo ., ZPoq1 TPy .. ZPoqy
X 0410 0
© ZP1qo  EP1qy © 2P1qo X 2P1q
(D) None of above (D) SR H ¥ Pls Tl
15. Data for index number should be  15. [T b foTU FHBT BT Gaheld Y]
collected from : T :
(A) The wholesale dealers (A) Qﬂw Rl
(B) The selected group of persons (B) ?[ﬁﬂ it & e 3
(C) The retailers :
C) TN AMNAT 4
(D) None of these © _ _
(D) SWad H F B T
16. The formula for standard error of 16. <8 9=~ | YA fayq & el g
correlation 1s : A) 1472
2 Vn
(A) 1\71; 1—1:2
1-7'2 (B) n
B) — 2
L2 © =
©)
Vn 1412
1+T2 (D) n
(D) =
Series-B B.Com. — C010102T/ 607 Page - 6



17.  Population census of the country is 17. <o @ SO fhee 9§ & 3R W
organised in how many difference R 7
of years ? (A) 10
(A) 10 B) 8
g ) © 12
D) 5 (D) 5
18.  The index number which adopts 18. R a¥ @ AERN A gRéfod
base year quantity is a method of : e o 9fa 2
(A) Laspeyre (A) TRIR @)
(B) Pasche (B) 1oy Pl
(C) Bowley (©) dgel A
(D) Fisher D) fRroR
19.  Which method is not used to 19. @A LTCCF% P A9 T A D
measure secular trend ? fow fog A &1 v T8t fear oran
(A) Moving average method 37
(B) Semi average method (A) e
(C) Freehand curve method ®) B
(D) Ratio to moving average
method © g vl faf
(D) =l HeY 3UTd Wfd
20. The index number for the base  20. 3MER ¥ &I BSGEZEd NEGHE
year is always : (A) 100 BT B
(A) 100 (B) O
SZ; Z ) (C) g TE
ny number : .
(D) None of these ) T R
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21.  The first step in tabulation is : 21. IRV H g R R
(A) Foot note (A) TS g
(B) Source note (B) P
(C) Captions
(C) 3
(D) Classification
(D) dIRY
22. By skewness we mean : 22.  fAvHAT W EART A ®
(A) Lack of symmetry (A) AT B
(B) Flatness of the distribution (B) e &1 IUeTeH
C) Symmetry of the distribution :
© 5 Y (C) dc @l FHfAd
(D) None of these _ _
(D) T 9§ I TaI
23.  Coefficient of correlation is  23. ¥E Gl UNid &l ALHA &, IS
significant if : (A) =3
P-E
T
(A) E>3 (B) I
PE
r p—
B) 771 (C) r>0.075
(C) r>0.075 (D) I 56
PE
T
24.  Which of the following represents ~ 24. 3= & § ®F A1 9fgdr @ yeiid
median ? GGl % ?
(A) PSO (A) PSO
€ O ©) 0,
(D) None of these (D) T B T
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25.  Statistics does not help business 25. JiRID IITAY DI FEIAT Tol B
n: %‘ :
(A) Determining Place and Size (A) I Td PR fRrior
(B) Sales forecasting :
(B) fasa qaigar #
(C) Production Planning _
. - (C) See fr A
(D) Selection decision of _ o
<] FdTed ﬁgﬁﬁ
Managing Director (D) 59 @ e
4

26. The other name of Random  26. <9 fe3H &1 3= M § :
Sampling is : (A) RN P
(A) Chance sampling (B) IR e
(B) Probability sampling © (A) 7 (B) o
(C) (A) and (B) both _ _

D) ST 4 8 el
(D) None of these ®)

27.  The median of the observation 27. IR FH H FIRT rdAIH 11,12,
11, 12, 14, 18, x+4, 30, 32, 35, 41 14, 18, x+4, 30, 32, 35, 41 B! AEAH
arranged in ascending order is 24, 24T A x
then x is : A) 21
(A) 21 (B) 22
(B) 22 (C) 23
© 23 (D) 24
(D) 24

28.  The concept of standard deviation ~ 28. VAU fdged & faar & yfqure foar
was introduced by : o :

(A) Bowley (A) dsa
(B) Karl Pearson (B) O
(C) Lorenz .
(C) @i
(D) None of these _ _
(D) T ¥ BIg el
Series-B B.Com. — C010102T/ 607 Page -9



29.  Which of the following mean is 29. {4 H ¥ &9 41 99 T TR DI
used to compare the average death JGex P gl T ganr foar
rate of two cities ? ST & ?

(A) Geometric mean (A) W q

(B) Weighted arithmetic mean (B) IRd R A
(C) Harmonic mean (C) HG e

(D) None of these (D) T QIR T

30. Coefficient of variation measures  30. fqROT 1IUTI‘CB AT &
the : (A) foest
(A) Sample (B) Frres
(B) Performance ©)

(C) Consistency
(D) Attitude (D) =R

31. Inasymmetrical distributionQ;and ~ 31. U® WAMA ded ¥ Q, R Q, FAM
Q,are 30 and 45 respectively then 30 3R 458 A Qg HT A BN :
the value of Q5 is: (A) 60
(A) 60 (B) 45
(B) 45 ©) 75
© 7 (D) T W P T
(D) None of these

32.  Statistical methods are used in the ~ 32. WiR@IT IRl /= &= & wwT @
following fields : ol B
(A) Exact Science (A) Tﬁ R
(B) Socio-Economic fields ®) B S N
(C) Biology
(D) Every field of Science and (C) iia faT

knowledge (D) < AT & Jeidh & H
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33.  Unit of analysis and interpretation ~ 33.  fd%eisvr Ug fAdad @l a1 ©
IS (A) 3
(A) Ratio :
(B) Coefficient ®) W
(C) Rates © ﬁ
(D) All of these (D) TE w
34, Which is not an essential element  34. {99 ¥ ¥ @9 41 NgF @7 ARG
of sampling from following ? qeq TR & ?
(A) Independency (A) Fd=d
(B) Representative (B) wfaffeea
(C) Non—uniformity (C)
(D) Adequacy (D) Tafean
35. The average of 50 students in a  35. UTd ®& § 50 B & A4 g 20
class is 20 years. when the age of ¥ 2| SO IUE B g e
teacher 1s included the average age A 1 9 93 o &1 oeame @
is increased by 1 year. the age of
teacher is- MK &
(A) 55 (A) 55
(B) 50 (B) 50
©) 71 ) 71
(D) 51 (D) 51
36.  Error is equal to : 36.  fyH R €
(A) Distance between the data _
boint (A) |HO & 7T
(B) Square of distance between (B) FAPI B T @ &7
the data point
(C) Half the distance between the ©) GHDT B @ 1 ST
data point D) o o B T
(D) None of these
Series-B B.Com. — C010102T/ 607 Page - 11



37.  Squares are : 37. T E:

(A) One dimensional diagram (A) To-fd9 o
(B) Two dimensional diagram (B) - e
(C) Thee dimensional diagram (©) B fr
(D) None of these : .
(D) T ¥ PIE Tl
38.  Under Newton’s advancing  38. < B T TR fafey dix=
difference method x is equal to- (A) Zo=x
(A) 2 po
xl—_xo (B) xol—_xo
(B) ;‘:__xxo (C) X ~%
C) L% Yo
o o
®) =
39. The term statistics was first used  39. WRIB TC & JIYH TINT b
n: T A7
(A) 1741 (A) 1741
(B) 1749 (B) 1749
(C) 1745 (C) 1745
(D) 1752 (D) 1752
40. The difference between actual 40. dR<AD qog dqr HjHTﬁH qed C3
value and estimated value VR 9§ SId BlaT @
determines : (A) Amer e
(A) Relative Error (B) St B

(B) Absolute Error
(C) Absolute and relative Error

(C) fRue iR e fawm

(D) None of these (D) T BT T
41.  Which data is cheaper to collect ? 41.  PIF W THG BT ThH3 PRI O 8 7
(A) Primary data (A) TG THS
(B) Secondary data (B) T wid
a :
EIC); Igz;;ejtaitve data (€ :
(D) e® Wi
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42. Greater distance between the 42. AN~ I Td 9 faaRe W & Y
Lorenz curve and line of equal RIDEY @ IR

distribution shows : (A) B JFAA
(A) Less in inequality (B) i T
(B) More equality (©) R o
(D) @I Tl

(C) More in the inequality

(D) None
43.  What is the formula for calculating ~ 43. Ug fdged A7 & O~ T HebTe
simple mean using step deviation ?
p BT R B
thod?
etho (A) T=A+ZTEx
Zfdx
(A) x=A+ ®) Zfdx
Zfdx
(B) x
(€ x=4a+ZE
Zfdx
C) x=4+—
(D) T & ﬁé Tl

(D) None of these
44,  Formula for Least Square Method 44,  =gIdH it A BT el g

is: (A) y.=a+ bx
(A) ye=a+bx (B) y.=a,+b
B) ye=a,+b (C) y.=x+ab
©) ye=x+ab (D) y.=b+ax

D) y.=b+ax
45.  Which law 1i1s not based on 45. fo=foRag & 9 o9 @ 9w <9

sampling form the following ? gfoerge I 3meiRd &l 2 7
(A) Law of inertia of large (A) WETH wedl FrRM
numbers

(B) ™TaT W
(B) Law of Probability

C) AT @ =M
(C) Law of demand ©

iR fafdar frm
(D) Law of statistical regularity (D)
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46. Calculate the average mean of 4, 6, 46.  3rad Ay Iy 4,6,8,10, 15,5
8,10,15,5 (A) 4
(A) 4 (B) 8
(B) 8 ©) 6
(C) 6 : :
(D) None of these D) T W o T
47. The most suitable index number  47. HH & fbdl I Bl YT BT Tl
for the study of charge in price PG TR IRTATT BT LTI R D
level influencing a particular class fore wafaw fdere &
of society : (A) " e
(A) Quantity 1nde>.< no.. ®) N - w -
(B) Whole sale price index _
(C) Cost of living index no. (C) S e frema
(D) None of these (D) T 9§ IS el
48.  Problems of editing in time series- 48. @i ooft & AHITET @ RN ¢
(A) Adjustment in  calendar (A) e S Eowepop
variations _
(B) Adjustment in value of price (B) fereror & wTS
(C) Population changes (C) ST gRac FHRITSH
adjustment (D) SwTE T
(D) All of above
49. Fixed base index number and  49. ReR MR Mdwe 1 @ feui®d
chain index number are : 2
(A) The same (A) FFH
(B) Different (B)  3TeTT—3IelT
(C) Always 100 (C) e 100
(D) None of these (D) = A P TE
50.  Statistics in terms of nature is : 50. 1;@% Dl ng% q AR 2
(A) A Science (A) U [
(B) An Art (B) & el
(C) Neither Science nor Art (C) ¥ fa=e T Tl
(D) Both Science and Art (D) fo=™ TG Herr Cinll
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51.  Who is the founder of Statistics ? 51. iRl B STl @F § ?
(A) Lord kelvin (A) @S Bfas
(B) Boddington (B) difeed
(C) Got fried Achenwall (®) e HIEe Tbdrel
(D) Seligman (D) AT
52. A sample survey ins belter because 52. U UfISy 9T S & R®ifd 39
itis: (A) 3G foRaega &
(A) More reliable (B) WY & 99 2t 2
E]z; iess time consuming_j,r © T 8 ege a2
€ss money consumin _
(D) All the abo}\’/e three ) ) W i
53.  Government Publication is : 53. RGN YHEH € :
(A) Primary data (A) UG THE
(B) Secondary data B) i Wi
(C) (A) and (B) both ©) (A) 7 (B) 3
(D) None of these D) ot ¥ B T8
54.  Mode can be computed from : 54.  9gcdd P AT B Fhd ©
(A) Ogive (A) 3oTEd |
(B) Frequency curve (B) 311-%[[%[ Ih
(C) Histogram (®) 3@% A R 9
(D) None of these (D) = J P T
55.  The arithmetic mean of the first N 55, UYH N Eﬂ?ﬁl‘cﬁ Ry 1,2,3......... N
natural number 1,2,3......... Nis: B GHR JY BN
N+1
A= (8
®) 3 ®) 5
© =5 (C) M+
(D) None of these (D) T T P
Series-B B.Com. — C010102T/ 607 Page - 15



56.  Reciprocal of 0.0062: 56.  0.0062 DT GchH BN -
(A) .1613 (A) .1613
(B) 1613 (B) 161.3
(C) L.ol3 (C) 1.613
(D) 16.13 (D) 16.13
57.  An Ideal index number is one that 57. P Ay fSwie 98 & W Tﬁ X
satisfies : &
(A) Factor reversal test (A) T ShwIT GO
(B) Time reversal test
(B) 99 IhRIAT WEw
(C) Circular test
(C) TshIg YRIeoy
(D) All above test
(D) U T Wierr
58.  Which of the following is not a  58. = % | &N FiR®! BT BN &l &7
function of statistics? (A) amfd® I
(A) Economic Forecasting (B) R
B) Economic Equilibrium
(B) q © N
(C) Political Equilibrium y
(D) i@ #fea @1 fad
(D) Construction of Economic
models
59.  The standard deviation for 15, 22, 59. 15, 22, 27,11, 9, 21, 14, 9 & fow
27,11,9,21,14,91s : q’q‘rqﬁ-—qﬂ:[%
(A) 6.22 (A) 6.22
(B) 6.12 (B) 6.12
(C) 6.04 (C) 6.04
(D) 6.32 (D) 6.32
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60. Spearman’s Rank correlation  60. RUIEF @I I IR T NI
coefficient P= p=
62D?
A 6ZD?
(A) N(N2-1) (A) NOVED)
62D?
® T B) 1+
zD?
<) 1- Y £D?
63D2 NEoN
R ) 1=
N(N2-N
61.  Which of the following is the non- 61. /&9 o9 @ ufoes ?flef o fow
random method of selecting N Tftos Ry 2 ?
samples from a population ? (A) T R
(A) Cluster sampling NS
(B) Quota sampling (B)
(C) Multistage sampling (C) &gx 17 i
(D) All of the above (D) SWiad oI
62.  First moment of dispersion is : 62. M 3Rl BT FEd ®
(A) Quartile deviation (A) aqgj—cﬁ oo
(B) Standard deviation (B) AT frer
(C) Arithmetic mean © —_—
(D) Mean deviation
(D) WY fager
63.  Formula for family budget method ~ 63. UIRaR® quic fafdy &1 91 ¢ :
15 (A) _;ZZ x 100
(A) %100 _ °P;
. 0;’; (B) ‘;’W X 100
(B) ==X 100 |
(C) (A) g (B)aFI
(C) (A) &(B) both D) T P
(D) None of these
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64.  Range from the following data will ~ 64. 4 TH®! 9 fOER g0m
be : -10, 12, 5, -6, -15, 4, -3
10, 12, 5, -6, -15, 4, -3 (A) 27
(A) 27 (B) 18
(B) 18 (C) 13
© 13 (D) T ¥ P Tl
(D) None of these
65. Lorenz curve is used depict - 65. NG a9 BT YA BT & —
(A) Skewness (A) fawHar
(B) Cumulative frequency (B) Gﬂ’cﬁ[ go
distribution (©) afe
(C) Dispersion _
(D) Coefficient of correlation (D) & s e
66. Find the Geometric mean of 1, 3, 66. 1,3,9, 3 ﬁ”ﬁﬂ'\’ ey e
9,3: A) 1
A) 1 (B) 2
(B) 2 C) 3
© 3 (D) 4
(D) 4
67. If 18,374.65 is approximated up to ~ 67.  IfT 18,374.65 B TR Th [Hdhedd
one thousand, the approximated e d@ dec fdar S
figure will be : Ahae g B
(A) 18,000 (A) 18,000
(B) 19,000 (B) 19,000
© 17,000 (C) 17,000
(D) 20,000 (D) 20,000
Series-B B.Com. — C010102T/ 607 Page - 18



68.  Statistics is the study of : 68. R I B
(A) Individual Unit (A) ARG I8
(B) Aggregate (B) W
(C) Both (C) <M
(D) None of these (D) T ¥ g el
69.  The formula for coefficient is : 69. T?Tl‘cﬁ CaIsEl g
A) ¢=2 A) ¢=2
(B) C=QXN B) C=QXN
© ¢=% © €=3
(D) None of these D) T W o T
70.  Which of the following is a three ~ 70. 4= § & &9 a1 3-fody fom € ?
dimensional diagram ? (A) e
(A) Sphere (B) <Ts
(B) Bar ©) @
(C) Circle (D) i
(D) Square
71. Find out mean mode and median 71.  foU U wH® 5,8,12,17, 12, 14, 6,
of the given data: 8,129 10 &1 ey, IgAd U AT
5,8,12, 17, 12, 14, 6, 8, 12, and fyepforT:
10 (A) 11,12,10
(A) 11,12,10 (B) 10,12, 13
(B) 10,12,13 ©) 11,12, 13
(C) 11,12,13 (D) 10,12, 11
(D) 10,12, 11
72.  Statistics in German is called : 72.  ARD! BT SHT H FET T €
(A) Statistik (A) wfefes
(B) Statista (B) wfewe
(C) Status (C) wcd
(D) Statistique (D) R}@?ﬁﬂl
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73. Data which an investigator may  73. WHd [= U& OUMSGAl W@d Tal

not be able to collect by himself: Thd P U1l &
(A) Primary data (A) TG THH
(B) Secondary data ®) fdus i
(C) Primary and Secondary data _ _
(D) None of these (©) s O fech
(D) T ¥ P T
74.  Mean of 15 numbers is 15. If two ~ 74. 15 IR &1 #6915 &) I o
numbers 18 and 12 are removed et 18 dor 12 et € 90 a9
then mean of remaining number Y RN BT AT BT
will be : (A) 10
(4) 10 B) 12
B) 12 (C) 15
© 15 (D) 25
(D) 25
75.  Standard deviation is always : 75. v faged weq B B
(A) Positive (A) EFTHS
(B) Negative (B) FOTHD
(C) Zero ©) T
(D) None of the above D) Gﬂ'ﬁ'cﬁ S
76.  What will be skewness if median ~ 76. fawwar @ R Ife Afgdr =24 3R
=24 and mean =26 ? ey =26 2
(A) +2 (A) +2
(B) -2 (B) -2
(©) +6 (C) +6
(D) -6 (D) -6
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77.  Lagrange formula is useful : 77.  AUA el SR 2
(A) For Extrapolation (A) IETTH @ fow
(B) For Interpolation (B) SO & fore
(C) For unequal difference in the © x 3 s ¥ S SR
value of x
(D) All of above ik
(D) ST
78.  Type of bar diagram is: 78. TS foF YR ©:
(A) Pictogram (A) oM RIS
(B) Sub divided diagram (B) S frifra aTToRg
(C) Line diagram © N
(D) Pie diagram D) T v
79.  On which assumption the method  79. =JIdH T A P R w®
of least square is based ? MR & ?
(A) Z(y — y.)? = minimum (A) E(y — y,)? = <
(B) Z(y —y,) = minimum B) I(y—y.) =
(©) IV —y.)? = Zero
(D) None of the above © I =y =T
(D) SWIEd H 4 $lg el
80. Deflating of Index Number is 80. Yol @ IRWIf TP B
necessary: .
(A) For the index no. of real ®) e W P P ?@
wages (B) Hfed A é@
(B) For money income (C) TART gq
(C) for real income
(D) None of the above (D) ORI H PR Tl
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81. Find the Median of given 81. foUu U @di®Al 5, 6, 11, 23, 4, 8,
observations 5, 6, 11, 23, 4, 8, 20, 20, 2 9 Aitg®T ST BRY
A) 1 (B) 7
B) 7 ) 8
©) 8 (D) 9
(D) 9
82.  Which of the following measures 82. 3mufexy & forv fosd A9 @1 ATMIfS
of dispersion is universally used ? YO fhar Sirar g 72
(A) Quartile Deviation (A) 5@% R
(B) Mean Deviation B) T R
(C) Range
(€) fawR
(D) Standard Deviation
(D) YA fddger
83.  Which of the following is a branch ~ 83. /= # ¥ &N ARl &l I=aT 8 7
of Statistics ? (A) TUIicHd iR
(A) Descriptive Statistics (B) IAFIE TR
(B) Infernal Statistics ©) S OoTd
(C) Industry Statistics _
(D) (A) @ (B) M
(D) Both (A) & (B)
84.  Which formula is used to calculate ~ 84. 7/ # & &M A1 T TCH <D B
decile 7 (D) form the following ? TOET & fow T o o ?
_ 7(N+10)
(A) Dy == (A) D, =T
_ N+l
(B) D7 ==3 (B) D; :Nl—zl
_N+1 N+1
(€©) D;=— (C) D=
(D) None of the above (D) G'q'é_cﬁ ¥ Plg el
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85.  The square of standard deviation is 85. YA fage™ &1 97 FHEa §
known as : (A) FEaw=I old
(A) Coefficient of correlation (B) %
(B) Modulus (©) TR
C) Variance _
ED; Coefficient of variation (D) fr ahe
86. Reasons or causes for cyclical 86. TPHIY ST H PR B
variations are :
(A) Inflation (A) FT 7R
(B) Deflation (B) d«1 W
©) Isr;cltzase and Decrease in © foma i o @
(D) All of above (D) SWIa ol
87. If mean =45, median =48 and 87. AfC AU =45, HARAHT =48 AT
coefficient of skewness = -0.4 then e I[oTieh = -0.4 HGIREICREERE
the value of standard deviation T BN :
will be : (A) 20.5
(A) 205 (B) 25.9
(B) 25.9 (C) 159
© 159 (D) 22.5
(D) 22.5
88.  Calculate Mode : 88.  §gID Dl UM DI :
J=5, X=40, SD=2 J=5,X=40,SD=2
(A) 30 (A) 30
(B) 20 (B) 20
(C) 10 (C) 10
(D) None of these (D) T q Pl ol
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89. Which of the following 89. = # ¥ &N W =% Wl ¢ ?
relationship is correct ? (A) AM=VGM x AM
(A) AM=VGM x HM (B) GM —AMHM
(B) GM __AM+HM 2
? (C) HM =+vAM x GM
(C) HM =+vAM x GM (D) GM = VAN X AN
(D) GM =+AM x HM
90. The classification method in which 90. TN foraH U TN B S G
the upper limit of interval is same W Tt @ ey 9 99 o &
as of lower limit class interval is S
called :
(A) Exclusive Method (A) st A
(B) Inclusive Method (B) T A
(C) Mid-Point Method (C) 7y fawg Afd
(D) Ratio Method (D) 3 Sy
91.  Probable Error is : ol. ™ ¥ Bl &
(A) 0.6753xSE (A) 0.6753%SE
(B) 0.6754xSE (B) 0.6754xSE
(€) 0.6457~SE (C) 0.6457xSE
(D) 0.6745xSE (D) 0.6745%SE
92.  The desired degree of accuracy isa ~ 92.  HiR&d! WTFT ¥ tlﬁiﬂ@?ﬂ @l
Zt:lsncal investigation depends NN S S Sp—
(A) Available resources (A) SUCE AT
(B) Nature of Problem (B) AT @I W
(C) Object and scope of (C) SFEH 1 Stw Td &5
investigation
(D) All of these (D) & W
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93.  Quartile divides series inhow  93. FGAG &l FI e AT H drear § ?
many parts ? (A) Th
(A) One (B) 2
(B) Two .
C
(C) Three ©
(D) Four (D) dR
94.  Index number is always expressed  94. fA3d WIT T I 2
in : (A) i o
(A) Percentage :
(B) 3rgma A
(B) Ratio 5
C) \HIgud
(C) Proportion ©
(D) None of the above (D) 3 §I£|i A Bl T
95. If the third and first quartile are  95. IfT TAI TN YoM of G HHw:
1 a9
56.36 and 22.16 respectively then 56.36 dAT 22.16 & dd ?,rg’gj_gﬁ oot
the quartile deviation is : 3.
(A) 78.52 (A) 78.52
(B) 17.1 (B) 17.1
€) 34.2 (C) 342
f : :
(D) None of above D) Yo ¥ ¥ B T
96. Histogram is wused for the 96. J EIC%I Imd o @1 A gBR @ Ao
resentation of following type of
P % Teei & forg ST R o ¢
series :
(A) Continuous frequency (A) 3ffafea amgfr soft
distribution
_ . (B) @It il
(B) Time series
(C) Individual Observation (C) <gfaTd 3rdelid
D) Discrete frequenc
®) ey (D) wfved amghr Sl
distribution
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97. Find out first quartile from 97. 99 JHAI T YoM ﬂ‘g’?j_CB CAlI |
following data : BT
6,9,12,8,14,13,10,8, 11 6,9,12,8, 14,13, 10, 8, 11
(A) 12 (A) 12
B) 8 (B) 8
< 9 ) 9
(D) 11 D) 11
98. If Ixy = 140, 0x=5, oy=4, N=10  98. 3T Zxy = 140, ox=5, oy=4, N=10
then coefficient of correlation will qr Teaw W 2RI —
e- (A) +0.07
(A) +0.07 B) -0.07
(B) -0.07
) -0.7
©) -0.7
D) +0.7 (D) +0.7
99. The mean of 20 items is 5 by  99. 20 #al @1 3 5 ¥| I W@ Ug
mistake +6 is wirtten instead of B I -6 & WM W +6 forg T,
-6,the correct mean will be : &) siEd B
(A) 5.2 (A) 52
(B) 44 (B) 4.4
(©) 42 (C) 42
(D) 4.0 (D) 4.0
100. Who has given the following 100. ficsnie @ = uRwmr feger g ?
definition of Index No.? “Index "fy3ene U fafdre YeR &1 ey g1
numbers are specialized type of (A) Sl
average”’ (B) QR
A) Bowle -
EB; Blair ’ ©
(C) Boddington (D) e
(D) Secrite
Xk
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Note:

DO NOT OPEN THE QUESTION BOOKLET UNTIL ASKED TO DO SO

Examinee should enter his / her roll number, subject and Question Booklet
Series correctly in the O.M.R. sheet, the examinee will be responsible for
the error he / she has made.

This Question Booklet contains 100 questions, out of which only 75
Question are to be Answered by the examinee. Every question has 4
options and only one of them is correct. The answer which seems
correct to you, darken that option number in your Answer Booklet

(O.M.R ANSWER SHEET) completely with black or blue ball point

pen. If any examinee will mark more than one answer of a particular
question, then the first most option will be considered valid.

Every question has same marks. Every question you attempt correctly,
marks will be given according to that.

Every answer should be marked only on Answer Booklet (O.M.R
ANSWER SHEET).Answer marked anywhere else other than the

determined place will not be considered valid.
Please read all the instructions carefully before attempting anything on
Answer Booklet(O.M.R ANSWER SHEET).
After completion of examination please hand over the Answer Booklet

(OOM.R ANSWER SHEET) to the Examiner before leaving the

examination room.

There is no negative marking.

On opening the question booklet, first check that all the pages of the
question booklet are printed properly in case there is an issue please ask the

examiner to change the booklet of same series and get another one.
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